Tab.4: The data of the failed cases. 
	　
	Sex 
	Age (months)
	Weight (kg)
	Condition of PmVSD
	Cause of Failure

	1
	F
	25
	12
	  one 6 mm single-orifice defect
	mild to moderate aortic regurgitation caused by device placement

	2
	M
	130
	63
	  one 5.8 mm single-orifice defect
	severe arrhythmia during the operation

	3
	M
	39
	15
	  one 7.7 mm single-orifice defect
	dislocation of a device during the push-pull maneuver

	4
	F
	46
	18
	multiple small orifices in AMS              ( about 2mm )
	the guidewire can’t pass through a small defect

	5
	M
	45
	14.7
	A small defect adjacent to the tricuspid valve  ( about 2mm )
	the guidewire can’t pass through a small defect


PmVSD: Perimembranous ventricular septal defect; AMS : aneurysm of the membranous septum;
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